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I. Microeconomics (50 points)

A B LIRHDh .. (2600 1 Bk U0 R R R R Sk o AR 2 4 P S0 4 .

L. Suppose Canon Inc. decided to in m yen in developing &nd launching a new model of its digita! camera, expecting
that it will bring additional sales of 60 billion yen. The company has already invested 38 billion yen when the marketing
department suddenly finds out that the introduction of a similar camera by Sony will reduce Canon's expected additional sales
to 30 billion yen. The company's management is trying to decide whether to continue investing in the new product or close the
project. Canon hires you &s an economic consultant, So, think like an ist to help the pany's i make their
decision:

2} At this point in time, Canon's marginal cost of introducing the new product is (11 billion ven,

b} Canon's marginal benefit from introducing the new product is. {2)  billiog
c} Will you advise Canon to finish the project and intraduce the new prod; 3) fone point d!
2. Sarah and her boyfriend Mike want to save some money to pay for their weddmg: ecided to help people in the

neighborhood by cleaning their garages and mowing lawns. Sarah takes 60 minutes to clean » garage and 80 minutes to mow &
lawn, Mike takes 80 minutes 1o clean a garage and 80 minutes o mow a lawn, Sarah and Mike devote 10 hours per week each
to these activities and get paid $25 for each garage they elean and 525 for cach lawn they mow,
) Sae s costs (o cleening garages is (4 dollars.

%- as & comparative advantage in cleaning garages.

i sl 5 the demand and supply scheduies for Gas in Dryland. A subsidy on gas of $10 per gallon is proposed
end the government asks you to examine the effects of the subsidy.

Price Olug.nlity :_Semunded _Q;_nuntity supplied
(dollars per gallon) (millions of gallons per  (millions of gaflons per

year) year)

10 320 0

20 240 1}

o 160 0

40 80 160

S0 0 240

&) With the subsidy, the price that consumers pay is (6) _, the price that sellers receive is (7 and___ (8)
—kailons af gas are sold.

k) With the subsidy, the marginel social benefit from gas is {9}, and the marginal social cost of gas is ___(10) .

¢} And dead weight loss for the whole economy is iy

. Ome year ago, Ms. Case and Mr. Bond opened a book store called C&B Hookstore, They invested §1,000,000 of their savings
into the parmership to buy equipment and initial inveatory. They rented a building for $90,000 a year, and hired two
employees for an annual wage of 540,000 each. Case and Bond believed thet the best alternative investment of their money
would be government bonds, which could yield an annual reteen of 8 percent. To run the store, Case quit her previous job, at
which she eamed $100,000, but her former boss told her that she was welcome to return anytime. Bond kept his job with the
government, but gave up & hours of leisure each week {for 50 weeks), the time he used to spend playing golf. Bond used to say;
"I'd anly give up my golf time if someone paid me $100 en hour." During the first year of operation, C&B paid $20,000 for
utilities and the firm's total revenue was 5350,000. The market value of C&B ‘s equipment was $200,000 at the beginning of
the year and §170,000 at the end of the year.

4) The explicit costs of C&B Boolkstore is, 12) . and implicit costs 15 (3%
b} The economic depreciation of their capitel s___ (14} .
) The firm's economic profit in the first vear of operation 15 (s .

. Anna's Farm produces and sells milk. The market for mill is perfectly competitive. The market price of milk is 52.50 per
gallon. The relationship between the farm's cutput and total costs is shown in the table below, Use these given information to
calculate Anma's average variable, average totel, and marginal cost and try 1o draw those eurves, After you done that, use those
curves W enswer the following questions:

=

w

Quantity Total cost
zallons per day) (dollars per day)

[ 400
L0 03
200 BEO
400 1,008
A0 1,160
500 1410
GO 1,840

a) If Anna maximizes her profit, her output is (16} Under that output, her profit/loss would be (7 .
b [f the market price is equal to (18}, Anna will shut down her production,
1
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6. Nimbus, Inc., and Clean, Inc. are the enly producers of flying brooms, Each firm has two strategies: Spend 30,000 dollars a
year on research and development (R&D) or spend nothing on R&D. If neither firm spends on R&D, Nimbus' economic profit
is 80, 000 dollars and Clean's economic profit is 40,000 dollars. If each firm conducts Ré:D, market shares ars maintained, but
each firm's profit is lower by the smount spent on R&D. If Nimbus conducts R&D and Clean does not, Nimbus makes an
economic profit of 120,000 dollars, while Clean incurs an economic loss 0f 20,000 dollers. If Clean Inc. con-ducts R&D and
Nimbus does not, Cleans Ins, makes o prafit of 60,000 dollars while Nimbus loses 10,000 dollars,
4] In the Nash equilibrium, Mimbus, Inc., will get (19) __ profit and Clean, Inc., will ger____{20) __ profi.
+ The table below shows costs, private benefits of students, and social benefits arising from college education. There is no

government involvement and the schools are competitive.

-1

Enroliment Margital social cost  Marginal private benefit Marginal external benefit
(millions of students (th ds of dollars per (th of dellars per {thousands of dollars per
per year) student per year) student per year) student per year)
4 Ll & L
8 ] 14 1)
12 & 12 [
16 10 1] 5
20 12 3 4
24 14 ] 3
a) The market equilibrium enrollment is (21} and the wition is 2 i
b} Considering socizl benefit of education to the whole aociety, the efficient level of enrollment is {23) . Hence,
the ight loss of the petitive market is 24 .
¢} If the government provides the efficient amount of education, of the total tuition paid by a student, the government
puy {35} and a student pay, ;

II. Macroeconomics (50 points):
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1. According to the light signals announced by Couoncil for E it Plenning and Dwevel (423 &) based on monitoring
indicator for Taiwen economy, the light colors from Movember, 2011, to August, 2012, are all blue {incredibly 10-succession
blues). Afterwards, the color has tumed into yellow-blue for months (at least, till November) in the end of 2012, which meant
that Taiwan cconomy, for that time, was (27 (a) Only fust under recession; (k) Only just recovering from the
recession; (e} About to fall into recession; fd) Abcd to be averheated; {e) A litle bit coo! down from overheated.

2. In addition o light signals, Council for Economic Planning and Development also regularly announces the composite
indicators for Taiwan economy, including lesding indi incident indicators, and lagging indicetors. As for the
respective camponent series, which of the following items should be classified as a “lagring” indicator? {28) (a) Stack
prices indes; (&) Unemplayment rate; (¢) Industrial production index: fe) Eleciric power consumption; (e} Monetary

aggregate (M),
3. After the serious impact of 2008 global financial crisis, the U.S. authorities conducted the well-known “Quantitative Easing
Policy”, which called QE1, QE2, and even QE3 (just 1 in 13 September 2012). Essentially, these are

nothing but expansionary monetary policies under the circwmstances when {29} approaches the "zero lower bound™, fa)
Federal funds rate; (b) Corporate bond rate; o) Discount rate; (d) 1 0-year treasury bound rate; (e)Martgage loan rare.

- By definition, the “internal balance” requires (301 fa) The balanced trade; (b) Zera unemployment rate: (o) The full
employment output, (d) Zero inflation rate; {2} None of the above.

- Which of the following currency have the “largest” absolute value of currency nowadays? (311 fa) New Taiwan Dollar:
(&) Singapore Loliar; (¢} Hong Kong Daoliar; {diThailand Bahy; {el Ewro,

- Ifinflation is greater in Korea by 10% than it is in the rest of the world, then the purchasing power parity (PPP) theory predicts
that the____(32) _ fa) Korean won would appreciate; (b) Korean won would depreciate; (¢) Korean won would remein
stable; (d) U.S. doliar would weaken; (2) Korean products must have real appreciation.

+ The so-called Okun's law is an empirically observed negati i ip between (33) _ fa) fnflavion rate and interest
rate; (B) GOP and met exports; fe) Inflation rote and rate! () U e rate and real owput gap: (e}

Unemployment rate and fob vacancy rate.

Which of the following account should be included in M1, by the definition of Talwan's central bank? {34 fa)

Demand saving deposit; (b) Foreign currency depovit; (c) Time deposit; (d) Currency held by the public; fe) Mutual furd

Which af the following situation may push the LM curve to the *left"?___(35) _ fa) The invention of ATM or credit card;

(b} Expansionary monetary policy taken by cenral bank, (&) An increase in the interest patd on checking account (d) Tax cut;

(&) An expectation of higher infiation rate in the Juture,

10, The wellknown “Marshall-Lemner condition” describe the trade elusticity criteria of getting improvement

through domestic currency devaluation. (@) Only expords; (B} Oniy imparts; () Entire trade balance; (d) Degree of inflation;
fei Government budget.
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11."European soversign debt erisis™ is one of the modemn economic issues which caused widespread concern since 2009.
Especially, soversign debt ratings of severs] eurc-zone countries have even been deeply downgraded by principal rating
agencies (such as Moody's, S&P, Fitch) mainly owing to their 3T fa) High rate; {B) High inflation
rate; (o) High Debt/GOP ratio; (di Vast amount of sovereign debs; (e} Low aconomic growth rate

12.Given the average tax rate (1), domestic GDP (Y}, and government expenditure (G). A general expression for the “budget
surplus" is [;_8] - fa) oG~ Y (B)Y = oG e Y — G fd) G—tF; (e) G- Y.

13 the growth ean be measured by the yearly prowth rate of (39) . iw) Trade balance; (b)
’\-‘nmbsr afsmplayedwarters fc) GDP (d) Damestic investman; (&) Population.

14, Considering the balance of payment (BOP) ( B ¥4 & 8% ), the exports or imports amount should be recorded into the (40}
_ fa} Currant aecount; () Capital accowntife) Financial decount ((d) official reserve transactions account; (g} None of the
above.

15. Saudi Arabia sent petroleum to Taiwan in exchange of U.S. dollars. In Taiwan, this will lead to (41) . (w) No change in
the current aceount! (b)) A merchandive trade deficit; (c) A balance of payments deficit; (d) A Financial account deficie; (e}
None of the above.

16.1f the central bank finance the government deficit which is just reselted from the tax cut, all these measures together would
lead to, (42) . fa) Right shift of bath IS and LM curve ; (b) Right shift of anly LM curve, (&) Right shift of only IS curve;
(] Right shift af LM curve but lefi shift of I8 curve ; (e} Left shift of both IS and LM curve.

17.The Hong Kong Monetary Authority (HEMA) (% i &8 8 8) declared “linked exchange rate regime” (i 4 [ %)) is
udopted for the Hong Kong dollar/USD rates since 1983, Conceptually, “linked exchange rai2” is most similar to the (43)
_exchange rate regime. (a) Pure floating ; (b) Fixed: () Managed floating; (d) Target zone; (&) Dual,

18, Waich of the following measure should be viewed as a contractive menetary poliey of central bank (or Fed)? 44) . fa)
FProvide more high powered money; (B) Ser higher reguived reserved ratio; () Decrease the discount rate; {d) Announce lower
Jtederal fund rate targer; () Perform the Quantitative Eosing Policy.

19, What is “labor force™( # 77 ) of a certain country? It's defined as the number of__{48} . (a) Pegple loaking for work; (b
Jobless People; (o) The employed; (d) The sum of the employed and jobless peaple; fe) Whole population.

20.The fluctuation of USD index (M db$L) is quite cruciel to the commodities prices [ 4h#{f4§), because most of the

dities are USD-denominated. Essentially, USD index is the___ (46)  of USD. {a) Nominal exchange rate; () Real
grchange rate; (¢) Nominal gffoctive exchange rate; (d) Real effective exchange rate; (&) Forward exchange rate,

C. WEIAT), (48D (51 e B SRR EA TS RB AT N SO RGR  BR2 8 0 10 5

Let's take a look at a small and simplified open economy model, where C, [, G, X, M represent the consumption, investment,
povermment spending, exports and imports of that economy, respectively. Among these variables, assumed that investment,
government spending and exports ere all sxogenous, numely / =1 ,G =G, and & = X', Besides, consumption and import
function can be expressed as followed (Y denctes the domestic income):

C=E+e¥, M=M+mY,

Where € and M denote the sutonamous consumption and imports, whils c and m rep 1t the inal ity 1o
comsume and import. Moreaver, following information is also given:

C=I=G=40, X=M =30, c=07,m=02,

) According to the above setting, the equilibrium income () should be (47) end the trade balance {TH=X-M)
should be

b} Instead of exogenous dcs@] of exports and imports. This time, consider the influence of exchange rate on the wade
balance. Let E represent the real exchange rate (1 unil of domestic product can be converted into E units of foreign
products), nhence the increase (decresse) in E implies the real app ion) of that More
coneretely, exports and imports function are now replaced by:

XN=X'—ufl, M=M+ml+vE,

Where X" =80, A’ =20, u=v=20, and E=2 {Besides, all other settings are unchanged). Therefore, the new equilibrium
meome (Y) should be, (49} and the coresponding trade balance (TB=X-M) should be,

¢} Conrinued to the sub-question (b), assumed that purchasing power parity (PPP) finzlly holds. In other wurds. it means
that the economy should experience o real depreciation, says, E decrease from 2 to 1. At that time, the economy
should havea__ (51)  (A) Trade surplus; (B) Trade deficit; (C) Balanced trade.
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